ALEX BERTI 1983

Largo (I mov.)
/=50

g

CUARTETO DE CUERDAS

Violin 11

Y

rit.

e

rit.

Tempo primo

CA

cresc.

Tip.

NI

4o

sfrp—

>

accel.

4Auﬁ

A tempo

Do

-

<)
DO

bo

I()
I
T

. =130

A Allegro molto

——

rit.

9.

D

L
P
@

9]

|




Violin I1

C \,_o.
| &\
C \,_a.
N
C e
» n
L.
C \_o.
| &\
Cle &
HaN
C .
1S
S
2z
s
A
& S
=0
aa
SV

¢

A'_

mﬁ_

LY

A'_

¢\

ol W
4
N

M A

Ylline

™ Y
L
LHTV
Cline
o~
r e

*» 1
L )

b

LS g

L N
195
=N

ne

)

z,>
|
I[N
3L
"l
| 100
(
il
q
Gl o
1
O_M uMﬂ
2 e
i
)
@07?

cresc.

Y

L

N

k)

A

A

=100

C Meno

—e /]




Violin I1

3

54 D
y 4 < < < —7h T
[ FanY / / / UFV 1 |
) s = — — —— =1

ee Z - g T T el g 66—
57
_9 — i | i i — l /\Pbp
(5 _ohe PR T e, Cereiep® ool cert line
oY -z ~ = I ' 6 ' | I |

6—'L g1 L—g—! ——— 6 ! 6 6

m —6— : —6—
"’\n o I /\I 2 2 ‘, " [ Il | h i“ Iﬁl i
ANV [ [ [ [ b ' [ 1
¢ 66— L—6— | 6 | 6 | == = T
61 | 6 1 l ——6—— —g 6 —6— —6—
#ib‘ i‘ i‘ | I " éi{% ] — :’ =}=| {: @1
o) o ~_ 7 —
63 —6—— — F
Y 4 ‘1 I j | | | | | | | | | | | | |
© == ' " do oo oo e e e o0
[Y) — — ~——_ - T =2 I = > > =

cresc.6 — — J
65
{es
SV
')j“? b2t = = =

dim.
Adagio rp
=90
7




Violin I1

,e =60

4
76G

poO

=

y A
[ Fan

[ Fan

9]

1=

s sul tasto
')
(@)

TNY

NN

19

i e
(p)
4
1
- N
=
~—
=

%) 1
T NG
2 ™

=40 ( I mov.)

Adagio J

vibrato

non vibrato

D ]
.
N ™ =
[
L NG
Uv >
wh
L)
1P o
N
9 o S
A
13
0 \
S
= _|[IIR
cRlIN
o) -t \
8 3
m Imhv
0 %Aﬁnmuv

rit.

Do

o
. \/-

cresc.

A tempo

103
_9 | I[)A'\

g\ h Lo
[ Fan N




Violin I1

Tempo primo

108

HO

/

N

=
—~

2

112

1 77
©O

B = Y=

cresc.

L Allegro Vivo J=140

(IIT Mov.)

117 pizz.¢
5

arco

4

|
D&

y A
[ an N

|
I

o o o o
-

L]

1]

N

134
[ f an W
141

V.S.



H T

O

e

b A

Violin I1

9l

p

iIN)

T
mf

Maestoso
+=90

147
151
[ o N4

r

oo

g Mol e

J=110
8

N | Meno Allegro

> > >>=> |

[

==

v 28 ¢
@@ <&

N

s

—

=

155
_Qu %,
T
| an T
166
_944- 8.
T
[ FanY T

fe

v,

—37

=> =

= >

_9 ﬂu#é

170

—3—

e s =
D s U >

2
1

-

q#- bg THg
-l B - ]

=

ol

944 #, =
o LT e

y A

[ FanY

173

rit. ———

rpe

=

;

[aaas

175



N

—

-

S

=

.
N

Violin I1

50
arco

rit.

VAR

con sord.

Lento J

"l.]
l‘!l %]

>

o
140

Allegro vivo

J

pizz.

Q

[ FanY
senza sord.
186

184

_9 ﬂu#é

179

N—  —
rrep

> o o o o
o o o & @

o

P<>1¥7

cresc.

[ v N

199

Andante
=

J

207

9.

e —

[ ——3— pr—

211
)




Violin I1

o

D
-~

Moderato
=80

J

215 T
05

221

fo

228

©-

poco cresc.

© o

-

<

§




